1t

z+ 13 2z -
1-/md~'€= fx-: e 0%

—1
sufZllie xw3 _ A, B
- x+3‘+0 oSy XU Xt6
' x4+ 2
. 2(:c—61>‘+0 X+13= (AtB)x +6A-B
x+
o =) AT.Z
|+ C B =-
T+ 2
E. In x+3’—|—0

N /2x3+5x2+8x+4d _ fﬁiﬁf’__ + Q:LL dx
(22 + 2z + 2)2 Kt 2t 2. (X+2ct2)

2z +2 2z +1 . ) _ 7 + ‘
A. /——x2 912 dx —I—/ @+ 212 dx 2)(3'*5)&4’ g)( oY _(AXTB)(X*Z)HZ) fob

5 / xZQerzzirz / (@2 —zrx;i o) = il (6“*2A>X1+[ZA*ZE"FC>X
C. / p~ +2x+2 / @ ile—izy do i

b /x Tror 2" /(ﬁimziiz)z /;\ngzl

B / 24?2;12 /(m2+2f3+2)2dx \C;ZZ
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3. The curve y =sinz, 0 <z < 5 is rotated around the z-axis to generate a surface S.
Which of the following formulas represents the surface area of S?

jud ' a) _ 9
A / 2rsinz V1 + cos?z dx S.A,"‘ fZT((\ CLg
0
1 ~ ~
B. / 21y 4/ 1+ (cos~1y)? dy = %:: sin X
0
1 —1 "‘ ——7’7 ,
C. / 27rsin_1y 1—|—1 1y2 dy A\S: “4»(3%)1 .())( = \/)-(-L()s)( )X
. 0 - ;

D. /227r93\/1+0082xda:
0

us

1 ,
E. /2 2rsinz 4/l 4+ —— dz
0 1—-—:62

24/2 22 do yﬁ/‘f @SM@)Z H(,‘DSQAQ' _ Vq@/\(\:@(iw’s’

o Jie-z o Vib= 1bsm>8 Heos O
A 27 X‘; L{SW\G
B. 27— 2 A‘)(':LICMQé@ : 777
C. 2% +2 o0z Henb = "Z somb > 0=
D' X= O"z’L(SIhB - 01S'M9"7 0=0
E. 2n+4
7y o5 20
Wy | - Cos 39
= f 1, sm*0 48 = j l(ﬂ( )
(0 ¢ Wi—f
7 .
= J\ Lf%/._ ¥ cos 29 )(9 - 3
0

_ g(5)- tsn(%) ~ 8O+ sm (o)

3




u=2{t

=L
du= £ ot
k=4 - u=ll
t-:\Ji"') u_:~q=3-"
i124t L2 : T 'ﬁ>
R L S LY R R = (/~./
1 Vit At g‘ e du 12 '}'&Ufl uil’, Iz— H 6
12 /f’ /\‘3
A o =37 - 2w
B. 4rx
C.
D. 3n
E. 27
6. Find the length of the curve given by .
) 2/3 5/2.
23 L3 — 1 %:[.,X
A' v . 2.1V, «'/gv
for0<z<land0<y<l1. i,___ ;[FXZ/;]?.(;L,X
X 2z 3

©w >

@

O
1 91 ol 1

3

i

il

i iy, .
J\ i+ X 3( -Xz/';) J x
0
\ )\) "2/313
N 2/ v = A X
I""’XZB - (}X . X
Jo
]
Ny 3 2/3
X ’ AX = Z_X o
/]




7. Which expression represents the y—coordlnate of the centroid of the region of the plane

bounded by y = z? and z = 3? ?

A fo( £3/2) dz
. fo (\/__xQ) dz
B fl 2%/?) dx
fo VT — 2?) dz
£3/2
o L= o
fo VT — 22) dx
R
2]0 VT —1?) dz
- Jo (@
Zfo :1:—562 dz
|
8. / —dx ~—

0 V3 Jis Y X
Al ayo™t
B. 2
C. [2]

D. 1
E. Divergent

P-4l - ) s

=) s

X

A: f‘\[;" XL )X
oy
b= 7
i % |
2 )x = me ZX a
a0t
= Pi’m 2 —ZJE
et

ff

Q_O:Z
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9. Which statement is true for the following sequence? 950 JRAT R
an=vn+1-+/n oy L= L
where n =1,2,... nvoo  Vntl V\‘,;)Z Jael v i
A. The sequence is divergent and decreasing. = O )

. The sequence is divergent and not monotonic.
. The sequence is convergent and not monotonic.

b= dx+e' %,

. | The sequence is convergent and decreasing. I gj/[x)_ l -

.Z\lX“f‘l ‘-Z:I_;;(

J-;{ __.’)L‘(.l .
L
25w 0.

(5\\&, X"”>'>4>

B
C
D. The sequence is divergent and increasing.
E

i

1 1 1 1
10, —+—=+ — 4+ —+...
e-}_eg_l_e:*—l_e“+

e
A. converges to o
1— —_— T 1/
e PN |- e
B. converges to
. 1—e Ve @
. diverges - — "
© . - €
D. converges to '
e—1 l
1 = =y
E. |converges to e -l
e—1
v \rl:-'f, < |
sme. €71, © ‘




11. Only one of these series converges. VVhich one?

n Ao

21
annn K\

ile— Lo rio
=2

[e.e] N n 2
Z n i 3 D.,QT. y\fgn < %)n and Z(%) COVELS G'@I—é < I>,

Y //m IZw(/Zn )I

ij:sm< ) mﬁ = nﬁ wd S H dverps.

12. Assume each a, is positive. Which one of the following conditions guarantees that the series
o0

Z a, diverges?

n=1

A.

Ap

1
ap > — for all n
n

1
a, < — for all n
n

lim =1
n—00 2n
1. Ay, .

{ _
Z.Qn CO\"VW} by L,C<'r, Vf‘h‘ f{;‘“ (h\l..);}dl)
In conclvsive

[ncoaclvsive

Sz = Z2) dverges (l”l:ﬁ‘fl))so by LCT, Zaa dverges

(ncamclusive




